IN B 2D 1
(BAK)

O *ra5L 5055, CHESATHEL(HILLS, 1 AHD
KIFFTLIZWETL &9 »

@® KzEZFEL s,

=\

4502 (
45+-3=15
(

Bz (

=

O smeLziai.
@ 4.8+2=

@ ROLIIZFHELZTL -,
(Y IZ2hlrFraHsEFL x I,

) 452,

@ 6.9+3=




£13% MHONIECHYE -

N B 20 1 SN

% A \\\:_ :{55
g@J

T\

A A

FEELEL X,

® 78.4=+7= @ 85b.2+3=

®@ 24.5+-56H= @ 49.8+6=

ROD, QDMEAEAZY L L & 9,

D KINDN4.2mOT—Tn"H N EFT, T 30F L oI5y,

1253 FImIZH 5 TL x ) h,

o
N

@ 37.2dDYa2—R%4oDAXNHIZHITE T,
1 29O IFAIZTETL & 99,

e SN
oA (KRR E EZI1530R—Y

\,

g\_j https://futaba-workbook. com



